
 

 

Whatsapp Puzzles Questions with Answer Pdf 

Questions : 1 

 

Ans: 1 

Multiply the bottom two numbers then take the square root, ie 1 x 4 = 4 and √4 = 2. 

Questions : 2 

 

Ans: 4254 

The centre number in each row is the product of the digits on the left, followed by the product of 

the digits on the right, i.e. 7 x 2 x 3 = 42 and 6 x 3 x 3 = 54. 



 

 

Questions : 3 

 

Ans: 1,000 

416 + 373 + 126 + 64 + 21 = 1,000 

Questions : 4 

 

 

Ans: 45 



 

 

 

Questions : 5 

 

Ans: 20 

 



 

 

 


